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BACHELOR OF SCIENCE (B. Sc.)
Term—Enﬂ Examination
June, 2020
LSE-02 : ECOLOGY

Ttme : 2 Hours - Maximum Marks : 50

Note : Question No. 1 is compulsory. Attempt all

questions.
w
1. (a) Define the following terms : 5

(i) Synecology
(ii) Population
(iii) Biomass
(iv) Food web
(v) Desertification

(b) Match Column A with Column B : 5
Column A Column B
(i) Consumers (1) Floor of the lake

(ii) Photoperiodism (2) Nutrient
' contents of lake

(iii) Benthic (3) Rivers and lakes
' drain into sea

P.T.O.
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~ (iv) Eutrophication (4) Breeding and

migration in
animals, flowering
and seed
germination in
plants

(v) Estuary (5) Heterotrophs are
incapabie of
photosynthesis

2. Attempt any four of the following questions

(a)

(b)
(©
(d

()

5 each
Differentiate between the following :

(1) Ephemeral annuals and succulents

(ii) Symbiotic Nitrogen fixers and Non-
symbiotic Nitrogen fixers.

Discuss the outcomes of deforestation.
Describe the process of soil fbrmation._

Explain  hydrological cycle and its
importance.
Briefly describe the processes involved in

succession of terrestrial or aquatic

ecosystem,
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3. Attempt any two of the following
questions : 10 each

(a)" Describe the relationship of plants and
herbivores by giving examples of plants

defence mechanisms.

(b) Describe the main ‘causes and

consequences of ecosystem degradation.

(¢) Discuss the causes and effects of air

pollution.

P.T.O.
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